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a % WA faaE (|gis) Maximum Marks : 70
’ Time allowed : 3 hours

G) g 5T 3 &

(i) YH-9871 8 8 TF A7 79-3009 F97 & | eI T S g 1 I & |

Gii) T-GEr9 & 18 7% TY-309 T § | T 5T & forw 2 4w § |

(v) FH-GEA19 & 27 % ) 7Tg-3909 597 § | 59% 57 & forg 3 7% 8 |

() F7-GCT 28 B 30 7% -39 Jo7 & | JF Fo7d & fore 5 3FE | -

(vi)  STEEAFAFIR T 2T BT FT H | FeFIel ¥ I9AT # oAl T E |

- General Instructions :

(1)  All questions are compulsory.

(i) Questions number 1 to 8 are very short-answer questions and carry
1 mark each.

(iii)  Questions number 9 to 18 are short-answer questions and carry 2 marks
each.

(iv) Questions number 19 to 27 are also short-answer questions and carry
3 marks each.

(v). . Questions number 28 to 30 are long-answer.questions and carry 5 marks
each.

(vi)  Use Log Tables, if necessary. Use of calculators is not allowed.

1. i gy S wf @ R 2
Why is adsorption always exothermic ?

2. fia & Mga & foe w3 foftr =61 am fafew |
Name the method that is used for refining of nickel.

3. NO, =i fgrd (7@ 1) W @ ?

CBSE Class 12 Chemistry Question Paper 2014
CHEMISTRY (Theory)

Why does NO,, dimerise ?
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4. AEH Tl F AR | FAfi fora yHR 1 950+ 2 2 1

Based on molecular forces what type of polymer is neoprene ?
5. UG % TA-NTH $ IS FT 8 ?

What are the products of hydrolysis of maltose ?

6.  A-FANNRA-2-3F i wran Ry | 1
Write the structure of 4-chloropentan-2-one.
7. T R # fRE o =t g 1

NI

Identify the chiral molecule in the following pair :

/\/ VA

8. Wi Wilts Vi % wizeenfam saw o aReada w B Tm & I 9@
R? 1

The conversion of primary aromatic amines into diazonium ‘salts is
known as

9. Tt Tgel = yW F F R e wwe! F T R 2
@) el
(i) 3AT-6, 6
Write the name of monomers used for getting the following polymers :
.. @) Terylene

(i) Nylon-6, 6
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10. % w1 vl Fifdw - 2
@) WA (matte) ¥ HR » e # Si0,
(i) ¥ 7T THA ¥ NaCN

Describe the role of the following :
@) Si0y in the extraction of copper from copper matte
@31 NaCN in froth floatation process
11. T whe | @ Hif 2
@)  Ag+PCl—
(i) CaFy,+Hy50,4-
Complete the following equations :
@ Ag+PCl—
Gi) CaF,+H,80,-

12. T $ dward see

2
@) XeF,
i) HCIO4 .
Draw the structures of the following :
(1) XeF, -
i) HClO,

13. () S« grash gy faadia fewmeti # SR & 3 Thgw & I W
FITerd o @ & at oha TR 1 grashed <@ I B, ket |

(i) O EEHHRdE 2 Fea & 99 S T8 sgadr ? 2

(i) Write the type of magnetism observed when the magnetic-
moments are oppositively aligned and cancel out each other.

(1) Which stoichiometric. defect does not change the density of the
crystal ?
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14, 3 g i wiomnd e 2
G CERC
(i) Hmrg Mer T@sa (A)
Define the following terms : -
(1)  Fuelcell
(1)) Limiting molar conductivity (/\;)
15. = aAffsean i frnfafy fafge 2

HBr
CHyCH;0H —— 5 CHyCH,Br + H,0

Write the mechanism of the following reaction :
HB
CH,CH,0H —— CH,CH,Br + H,0

16. U vanti Afwfea, R — P & fow, 9w (t) % wfd wiear (R) # gfada =i
0 U6 A femm ™ 2 |

N

t—
G 7@ aIfufwar | AR (order) GIHT |
() 9% <l EUN (QAH) T qR ?

For a chemical reaction R — P, the variation in the \concentration (R) vs.
time (t) plot is given as.

NN

t—

@) Predict the order of the reaction.
@i}) What is the slope of the curve ?

5
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17.

18.

19.

20.

TS 28 g em™ H T T Beh Hid AR (fe.c.) FHR H1 A T
T ? Fmes R it EE 4 x 108 cm B | 38 9 1 AR 2o9OH
Refea HIfT |

(fan T 2 ;N =6-022 x 1023 Hi@Y)

An element with density 2-8 g em™ forms a f.c.c. unit cell with edge
length 4 x1078 cm. Calculate the molar mass of the element.

(Given : N =6:022 x 10% mol™)

= stifrnett @ e afiea fafec -

@) TR - & Afut

(i) faformem 939w (synthesis)

Write the equatidns involved in the following reactions :
(i) Reimer - Tiemann reaction

(i) Williamson synthesis

et w3 1 ot AR

Q) Ewfies e
Gi) Y IR

(i) STCHIERTTS

Define the following terms :
1) Glycosidic linkage
@) Invert sugar

(1) Oligosaccharides

fava @ foaw & sem W, 3. gqud 4 vg & e @ A oA
frart 3 e T wren $ Fm | S ¥ 9R, ¥ TR @R 9= am
% TR Hreawsl F grah T A 5 FRU eaF § F Afwt B
A B o | I Q gl ) g oft o | IR S e et | |
31, U A 3§ 90 h G qohil Aol TR T3 HMIA (NHRC)
& | NHRC % ggmal w an 3 fivka Ren $ sheedl serma siv Rl
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wema A A § Y AN WA H TR MG A A I <k FHIE B IR

G  (a) Sf. gaur 3K (b) NHRC g gUFE 71§ 7= a1d forRaq |
(i) :aﬁﬁWﬁtﬁaﬁaaﬁ%ﬁmg@amaﬁwmmgmm-m&ﬁ
YgH <l S & ?

(1)

nyie F AR F R gemg T FEm wgERi @ FRh o W saEm
QR |

On the occasion of World Health Day, Dr. Satpal organized a ‘health camp’
for the poor farmers living in a nearby village. After check-up, he was
shocked to see that most of the farmers suffered from cancer due to regular
exposure to pesticides and many were diabetic. They distributed free
medicines to them. Dr. Satpal immediately reported the matter to the
National Human Rights Commission (NHRC). On the suggestions of
NHRC, the government decided to provide medical care, financial

assistance, setting up of super-speciality hospitals for treatment and
prevention of the deadly disease in the affected villages all over India.

(1)

(11)

(1i1)

Write the values shown by
(@ Dr. Satpal
(b) NHRC.

What type of analgesics are chiefly used for the relief of pains of

terminal cancer ?-

Give an éxample of artificial sweetener that could have been
recommended to diabetic patients.
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21.

ﬁm%f‘@aﬁam%f@;:

()  qdrEe TR (RyN) it o o grefies WA (R-NH,) F F997i® I=®
qA 2

) el HRT - wIive sffen T

(i) T FeRA ¥ (CHy)sN 1 qoT  (CHy)pNH 31t & 3t R |

AT

f stfiifsranedt & A, B 3k ¢ &t g difw .

o CmNo, SPYHCL , NaNOp+HOL o HO
1
o2 273 K
H,O/H* Bry + KOH
() CHyCN —— NEs Yy ~=
' A

Account for the following :

@) Primary amines (R-NH,) have higher boiling point than tertiary
‘amines (RgN).

(1)  Aniline does not undergo Friedel — Crafts reaction.

(i) (CHg)oNH is more basic than (CHg3)3N in an aqueous solution.
OR
Give the structures of A, B and C in the following reactions

_ Sn + HC1 NaNO, + HCl H,0

H,O/H* Br, + KOH
@) CHCN A Om g TF c
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= 4 9w afufeen & yE TheeiaH! el shi TLEAT S5

PCI
@) <:>— CH,O0H ——

22,

(a)

(b)

(2)

(b)

(@)

(b)

(i) ©_ CH, - CH = CH, + HBr ——

P il § @ B ke A sy Sl § sfe dea @

aifforar =0T ¢

(i) CHgBr J9al CH,I

(i) (CHgy C—Cl 39l CH;-Cl

Draw the structures of major monohalo products in each of the
following reactions :

() ©_ CH, - CH = CH, + HBr

Which halogen compound in each of the following pairs will react
faster in Sy2 reaction :

(1) CHgBr or CHglI
(i].) (CH3)3 C-Cl or CH3 ~Cl

o
Mg (s) + Cu®* (S&i¥) — Mg (SeiF) + Cu (s)

3 R .G° aRerR BT |
R B, =+271V, 1F=96500 CHIA

A (Apollo) aRer dium = foe e ofe swaer = F fae
T A % THR 1 AW fafE |

9
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24‘

(@) Calculate A,G’ for the reaction
Mg (s) + Cu®** (ag) = Mg*" (aq) + Cu (s)
Given: E'yqy =+2-71V, 1 F=96500 C mol ™

(b) Name the type of cell which was used in Apollo space programme
for providing electrical power.

R smaa s@ed # 50,01, F yom SRR & adig fma F e f=fafes
ATh2 TH TV :

S0,Cl, (719) > SO, (1) + Cl, (74)

Wb | sl gEd geagarEd

1 0 0-4
2 100 0-7
A Frars afeiaa ST )

(feam = R : log 4 = 06021, log 2 = 0:3010)

The following data were obtained during the first order thermal
decomposition of SO,Cl, at a constant volume

SOQClz (g) —_— Soz (g) + Clz (g)

Experiment Time/s Total pressure/atm
1 0 04
’ 2 ‘ 100 | 0-7
Calculate the rate constant.
(Given : log 4 = 0:6021, log 2 =0-3010)

A T B 2 ? T faflm voR w0 € 2 I YRR &1 UH IEEW
AR |

What are emulsions ? What are their different types ? Give one example
of each type.
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26.

217.

fmfafad & srw ﬂﬁm :

@ (CHggP =0 T IR I 8 Reg (CHy)y N = O & firera |

() 30FH UH FA I FNHAS g el wAeh F AW Few H E
e & fore 0 g 2

(i) HyPO, HI 3T HoPO, IR Taer 7= 2 |

Give reasons for the following :

@ (CHg)3 P = O exists but (CHg)3 N = O does not.

- (i) Oxygen has less electron gain enthalpy with negative sign than

sulphur.

(iii) H3PO, is a stronger reducing agent than HgPOs.

G  ER [Cr(NHjy), Cl,JC1 %t TUPAC 7 feifiae |

() HH [Colen)s)®* fohg YR H TATETaar fowm & 2
(en = 399-1,2-S130HA)

(i) [NiCl]* =1 FATT=ehra qIaT ? F&fh [Ni(CO),] IFagrasha ardm 3 2
(T AT : Cr = 24, Co =27, Ni=28)

(i)  Write the IUPAC name of the complex [Cr(NHj), Cl,]Cl.

(ii) What type of isomerism is exhibited by the complex [Co(en)s]®* ?

(en = ethane-1,2-diamine)

i) Why is [NiCl,)?" paramagnetic but [Ni(CO),] is diamagnetic ?
(At. nos. : Cr =24, Co =27, Ni= 28)

@ f= afiest & CH;CHO i sififsran &3 Tt 91 3a =t fafau :

@ HCN
() H,N-OH
(iii) 93 NaOH ! Jufeifd § CH3CHO

1
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®) T i gwi s feEm % foe awe verfe e fafiae
(@) S-dligh v i B

(i) WA AR TUAE 3, 2

AT
(@) =% Fo faRae
@ CH;COOHH g # Cl- CH,COOH i Yaet 37 2 |
(i) TGS A HEid qYg it AffR 78 2 |
(b) = am aia sfufEne « fo mamtes afteo fafa .

0 U Y=
(i) <hHIR AfHfEn

© CHyCH, - CO - CH, - CH, 3it CH4CH, - CH, - CO — CHy # &

H ARSIHH T <an 2 ? 2,21

(@), Write the products formed when CH5CHO reacts with the
following reagents :

@ HCN
(i) HyN-OH
@iii)) CHgCHO in the presence of dilute NaOH
()  Give simple chemical tests to aistinguish between the foilowing
pairs of compounds :
@i  Benzoic acid and Phenol

'(ii) © Propanal and Propanone

(@) Account for the following :

@ Cl-CH,COOH is a stronger acid than CH3COOH.

(i) Carboxylic acids do not give reactions of carbonyl group.
12
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29.

(b)

©

(a)

(b)

(@)

(b)

Write the chemical equations to illustrate the following name
reactions :

(i) Rosenmund reduction

(i) Cannizzaro’s reaction

Out of CH3CH, — CO — CH,, — CHz and CHyCH, — CH, — CO — CHs,

which gives iodoform test ?

= wei <t g e
(@) WA
i) A9 IFE o (K,)

T T faeem 1 i i faeem 4 15 g afen (Wer gemm =

60 g Ma)) gfetd B | 30 foeiT 1 WA @ I B R (AR
aam:lsogn‘la'l)%@ﬁaﬁq%w(wmﬂ)% | T faex
forerm o Suftia i 1 gemH uitesfor ifs | 2,3

AT

AT 3R WHieR o e e wen o fouew fgamr @ 7 @
Qi |

Sl 1 P (A EENE = 180 g W) & U faeRM W dad @M

2, 10% (53MM 3FER) | T faema A Aoaa R diaw = g 2
(foerm %1 o9 = 1.2 g mL™Y) 2,3

13
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(a) Define the following terms:

(i) Molarity
(1) Molal elevation constant (Ky)

A solution containing 15 g urea (molar mass =60 g mol™) per litre of
solution in water has the same osmotic pressure (isotonic) as a solution

of glucose (molar mass = 180 g mol™ 1) in water. Calculate .
“the mass of glucose present in one litre of its solution.

(@ What type of deviation is shown by a mixture of ethanol and
acetone ? Give reason.

() A solution of glucose (molar mass = 180 g mol™) in water is

labelled as 10% (by mass). What would be the molality and
molarity of the solution ?

(Density of solution = 1-2 g mL™Y)

30, (a) T wfiso = qu iR
(i Cr,0;* + 20H >
() MnO, + 4H* + 3¢ ——>
by = F Fro fafau -
(i) Zn ! GHUY qF T TAT W@ |
(i) HsHAY YIg Tgd H§ TR T B |
(i) Mn®*/Mp? W, Cr**/Cr?* I B &l IS B AR @aa | 2 3

AYdr

14
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@

(i1)

(ii)

(iv)

(a)

(b)

@

(i1)

(1)

(iv)

HeE gitadasiear ot gaafie affEadiaar & ded d aemigel
IR AR & sw W e |

AYTEe TEdl F I ge 1 AW ey, N +4 iehEw smwn
foam & fow wfrg 2 |

= i = QU iR

MnO,~ + 8H* + 5e~ >

Mn?* 3R Cr** o & 3N i s g s Tt 2 f
(STHTY] SHHT : Mn = 25, Cr = 24)

- Complete the following equations :

() Cry0,2 + 20H - >
(i) MnO, + 4H" + 3¢~ >

Account for the following :
(i) Znis not considered as a transition element.
(i) Transition metals form a large number of complexes.
(i) The E° value for the Mn®*/Mn?* couple is much more positive
than that for Cr3*/C+?* couple.
OR

With reference to structural variability and chemical reactivity,
write the differences between lanthanoids and actinoids.

Name a member of the lanthanoid series which is well known to
exhibit +4 oxidation state.

Complete the following equation :
MnO,~ + 8H" + 5e~ ">
Out of Mn3* and Cr®*, which is more paramagnetic and why ?
‘(Atomic nos. : Mn = 25, Cr =24)
15



